Package

Wall Mount Adaptor

SBP-390WM2(IVORY)
SBP-390WMW2(WHITE)

@ Hanwha Techwin

Product Overview

ENG This product is used to install the Smart Dome Camera and Anti Vandal
Camera on a wall or vertical structure.

R Ce produit permet de monter la caméra SmartDome et la caméra

anti-vandalisme sur un mur ou une structure verticale.

Dieses Produkt dient zum Montieren der SmartDome-Kamera und der

Anti-Vandalismus-Kamera an einer Wand oder einem senkrechten

Untergrund.

PA Este producto se utiliza para instalar la Camara Domo inteligente y la

Cémara antivandélica en una pared o en una estructura vertical.

TA Questo prodotto € utilizzato per installare la videocamera Smart Dome e

la telecamera antivandalismo su una parete o su una struttura verticale.

STOT NPOAYKT UCMONb3yeTCA ANA YCTaHOBKYM KynoNbHOM BugeoKamepsl

Smart Dome 1 aHTVBaHAaNbHOWM BUAEOKaMePbl Ha CTEHY U

BEPTMKA/bHYIO MOBEPXHOCTb.

Ten produkt jest uzywany do montazu kamer koputkowych i kamer

koputkowych zabezpieczonych przez wandalizmem na $cianie lub

konstrukcji pionowej.

IR  Bu Urdn, duvara veya dikey bir yaplya Smart Dome Kamera ve Anti
Vandal Kamera kurulumu igin kullanilir.

cz Tento produkt je ur€en k instalaci kupolové kamery Smart a

protivandalské kamery na sténu nebo svislou strukturu.

D) CORRBEFERALT. AR— b« F—L - AXSETVF - N\VEI -
AASEEE IFEBGEICRBLE T,

[N A7 @A TEE LS EEEM EZRE Smart Dome BGHLF Anti
Vandal B {&#l.

PRl = ME2 4 L= 25 XS0l YA Smart Dome Camera, Anti Vandal
Camera X[ Al At&3H= Adaptor®LICh

n

9]

(7]
>

0
o
=

E

)

s}

U

(2}

Installation Precautions

WALL MOUNT ADAPTOR

Make sure that the installation place can endure at least 4 times of the total weight of the Wall Mount
Adaptor, Hanging Mount Adaptor, and Camera.

This product is designed to use M10 Anchor Bolts (Nuts) for the installation.

For a concrete wall, it is recommended to use M10 Anchor Bolts (Nuts) along with plain and spring washers.
Each anchor bolt must be capable of withstanding an extraction force of 700 kg.

When installing the product outdoors, use interlocking devices made of stainless steel.

Wall mount adaptor can be installed directly on the wall.

Assurez-vous que I'emplacement de I'installation peut supporter au moins 4 fois le poids total de
I'adaptateur de fixation murale, de I'adaptateur pour fixation suspendue et de la caméra.

Pour installer ce produit, vous avez besoin de boulons d'ancrage M10 (écrous a river).

Si le mur est en béton, nous vous conseillons d'utiliser des boulons d'ancrage M10 (écrous a river) avec
rondelles de ressort et plates.

Chaque boulon doit pouvoir résister & une force d'extraction de 700 kg.

Sivous installez le produit a l'extérieur, utilisez des dispositifs de verrouillage en acier inoxydable.
L'adaptateur mural peut étre installé directement sur le mur.

Stellen Sie sicher, dass der Montageort das 4-fache Gesamtgewicht des Wand- bzw. Hangeadapters und der
Kamera tragen kann.

Bei der Montage dieses Produkts bendtigt man Ankerbolzen und Muttern (M10).

Bei einer Betonwand wird die Verwendung von M10 Ankerbolzen (Muttern) und von Unterlegbzw.
Spannscheiben empfohlen.

Jeder Ankerbolzen muss einer Ausziehkraft von 700 kg standhalten kénnen.

Wenn das Produkt im Freien montiert wird, miissen Verriegelungseinrichtungen aus Edelstahl verwendet werden.
Adapter fiir Wandhalterung lasst sich direkt an die Wand montieren.

Asegurese de que el lugar de instalacion puede soportar al menos 4 veces el peso total del adaptador de
montaje en pared, el adaptador de montaje en suspension y la cdmara.

Este producto se ha disefiado para utilizar tornillos de anclaje M10 (tuercas) para la instalacion.

En un muro de hormigén, se recomienda utilizar pernos de anclaje M10 (tuercas) junto con arandelas planas
y de muelle.

Cada perno de anclaje debe tener la capacidad de soportar una fuerza de extraccion de 700 kg.

Alinstalar el producto en exteriores, utilice dispositivos de interbloqueo de acero inoxidable.

El adaptador de pared se puede instalar directamente en la pared.

Assicurarsi che il punto prescelto per linstallazione possa sopportare un peso 4 volte superiore a quello
totale di adattatore per montaggio a parete, adattatore per montaggio sospeso e videocamera.

Questo prodotto & progettato per utilizzare bulloni di ancoraggio M10 (dadi) per linstallazione.

Per una parete in calcestruzzo, si raccomanda di utilizzare bulloni di ancoraggio M10 (dadi) con rondelle
piane e elastiche.

QOgni bullone di ancoraggio deve poter resistere ad una forza di estrazione di 700 kg.

Per installare il prodotto all'aperto, utilizzare dispositivi di ancoraggio in acciaio inossidabile.
L'adattatore per montaggio a muro pud essere installato direttamente sul muro.

Y6epuTech, 4T0 MeCTO YCTaHOBKY BbljePXVIBAET BeC NPUMEPHO B 4 pa3a Gonblumii 06Luero Beca HaBecHoro,
HaCTeHHOTO ajjanTepa 11 kamepbl.

[lns ycTaHOBKY 3T0r0 NPOAYKTa HEOBXOAMMO MCMONb30BaTb KpenexHble 60Tl (raiku) M10.

[InA yCTaHOBKM Ha CTEHY PeKOMEHAYeTCA UCTIoNb30BaTb KpemnexHbie 6onTbl (raiikit) M10 BvecTe ¢
MPYXUHHbIMY Y MAOCKVIMY Waitbamu.

Heobxopnmo, uTobl Kaxzplit KpenexHblit 6ONT Mor BblfepaTb cunosyio otaauy B 700 kr.

Ecnu npogyKT ycTaHaBnMBaeTCA BHe MOMeLLEHIs, HeOOXOAMMO CTIONb30BATb YCTPOVCTBO GIOKMPOBKIA 13
HepxaBetoLLeil cTanu.

AnanTep AnA HaCTEHHOTO MOHTaXa MOXHO YCTaHaBNNBATb HEMOCPE/CTBEHHO Ha CTeHe.

Upewnij sie, ze miejsce instalacji moze utrzymac cigzar czterokrotnie wiekszy od facznej wagi Przystawki
$ciennej, Przystawki wiszacej i Kamery.

Produkt ten nalezy montowac za pomoca kotew (nakretek) M10.

W przypadku Sciany betonowej zalecane sa kotwy (nakretki) M10 oraz podkfadki zwykte i sprezyste.
Kazda kotwa musi mie¢ zdolnos¢ wytrzymania sity wyciagania 700 kg.

W przypadku montazu produktu na zewnatrz nalezy uzywac blokad ze stali nierdzewnej.

Adapter $cienny mozna zainstalowac bezposrednio na $cianie.

Montaj yerinin Duvar Montaj Adaptériiniin, Askil Montaj Adaptdriiniin ve Kamera'in toplam agirliginin en
az 4 katina dayanikli oldugundan emin olun.

Bu Giriin, M10 ankraj civatalariyla (somunlar) birlikte kullanilmak icin tasarlanmistir.

Beton duvarda, diiz ve yayli rondelaya sahip M10 ankraj civatalarinin (somunlarin) kullanilimasi dnerilir.

Her ankraj civatasl, 700 kg giice dayanabilmelidir.

Uriinti dis mekana kurarken, paslanmaz celikten yapilmis ig kilit mekanizmalart kullanmn.

Dubara montaj adaptori, dogrudan duvara takilabilir.

Ujistéte se, Ze misto, kam chcete zafizeni instalovat, unese nejméné ctyfnasobek souctu hmotnosti adaptéru
pro upevnéni na sténu, zavésného montazniho adaptéru a kamery.

Tento produkt je navrzen pro pouziti kotevnich Sroubti a matic M10 pfi instalaci.

U betonovych stén se doporucuje pouzit kotevni Srouby a matice M10 spolu s plochymi a pérovymi
podlozkami.

Kazdy kotevni Sroub musi byt schopen odolat tahu 700 kg.

Pri instalaci produktu ve venkovnich prostorach poufijte zajistovaci prvky z nerezové oceli.

Adaptér nasténného drzaku |ze namontovat pfimo na sténu.

BRI VA=) TV M TETANIEF T RIVMTETABEONASDEHERDR
RAUBETHASNST LRI TLELY,

CORBIMIOT Y H— RIS Py N ERBLGRELEY, \
227 MUDEICRB Y B350 M7 A— BRIV (Fy b EEbIe FTY v —BLURT
G0y v—% BRI BT EBBOLET,

&7V H—RVMNE T00kgDEENICHASNE T,

» COHREBMNCRET DRI AT VL ARDERRBEBRLTEL,
= BT AT BICERRY AT ATEN TEET,

BRAREMEEDANAZE LREERS. BEREEREMBENIZEN 4 EHHE.
AERGITAHERMIO BB (88) #iTR%E.

WFERLE, BUWEMIOEZEL (B8) SRTAHENLEASER.
BIEERLBLREEBIRT 700 AFTRE AR

EEIREFRA, BERTENHENBREE.
BEAREERETERREERE,

Ax|% 47t Wall Mount Adaptor, Hanging Mount Adaptor, Camera 2 £5&9]
AL 2 U Rof| Mx[SHAIQ.

0| HIZ2 M109 Y7t EE(LE)S ALSHT S U & 0f ULICH

232 EH| MXE A2 M10 9| U7t 2E(HE)S LM W AT} S| AHSstA 8.
M€l 2t2to| U7t BEE 700kge] wH0f AC|ofof BLICt,

200 Mx| Al HIZFE AEQIA HHES AEHAS.

Wall mount adaptore Hofl 21 MX|g+ QlELICh

4 0|82 523



Installation

1 Pull out the external power cable, BNC cable and communications
cable (for connecting to the “camera”) through the rear of the Wall Mount
Adaptor into the Pipe.

= Then, it is recommended to keep the cables in a distance of about 100
mm from the pipe.

2 Secure the Wall Mount Adaptor to the wall, corner or pole using the
“Anchor Bolts or Nuts (M10)”".

= When installing the product on a wall, mark and drill 4 holes into the
Wall Mount Adaptor and insert the Anchor Bolts or Nuts (M10) before
installation.

Anchor Bolts

Wall Mount Adaptor

Mount the Camera set on the Pipe.

= |nstall the camera according to the camera’s installation guide.

Product Specifications

Camera set

Weight : 1.79 kg

Material : Aluminum

Operation temp. : -50°C~60°C
Operation hum. : 0~100%

Ciezar : 1,79 kg

Materiat : Aluminium

Temperatura robocza : -50°C~60°C
Wilgotnos¢ robocza : 0~100%

Poids : 1,79 kg

Matériau : Aluminium

Température de fonctionnement :
-50°C~60°C

Humidité de fonctionnement : 0~100%

Agirlik : 1,79 kg

Malzeme : Aliminyum

Calisma sicakligi : -50°C~60°C
Calisma nem degeri : 0~100%

Gewicht : 1,79 kg

Material : Aluminium
Betriebstemperatur : -50°C~60°C
Betriebsluftfeuchte : 0~100%

Hmotnost : 1,79 kg

Material : Hlinik

Provozni teplota : -50°C~60°C
Provozni vihkost : 0~100%

Peso : 1,79 kg

Material : Aluminio

Temp. funcionamiento : -50°C~60°C

Hum. funcionamiento. : 0~100%

BE1,79kg
ME:TIVIZIL
ENERE : -50°C~60°C
BIERE : 0~100%

Peso : 1,79 kg

Materiale : Alluminio

Temperatura di esercizio : -50°C~60°C

Umidita di esercizio : 0~100%

EE:1,79kg
LR}

TiEREE : -50°C~60°C
TERE : 0~100%

Bec: 1,79 kg

Matepwan : AntoMUHWIA

TemnepaTypa npw pabote : -50°C~60°C

BnaxHocTb npw pabote : 0~100%

Product Outline

27 :1.79kg

THE  Aluminum

Mg 2% 1 -50°C~60°C
A2 &E 1 0~100%

mm(inch]

1.3 .49

385.67 [15.18]

150 [5.91]
183 [7.9]

80 [3.15]

115 [4.53]




